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2010-11 2011-12 2012-13
- z X - -
g Masdl
xels 2.30,000 3.20,000 2.60,000
LALELR 4,16,000 3,40,000 300,000
4sllédl 64,000 80,000 90,000
ASS 44,000 236000 20.000
2Ustell _ 1,60,000 50,000 10,000
v Uy (A sl 1,40,000 30,000 10,000
221G Ysda Wi 34,000 | 40,000 | 30,000
10,88,000 10,96,000 7,20,000 |
s1ul [Basdl :
%M1 80,000 80,000 1.42.,000
H 51 56,000 46,000 72,000
4A 6,44,000 5,88,000 10,02,000
sz 62,000 52,000 | 82,000
8,42,000 7,66,000 | 12,98,000
19,30,000 18,62,000 20,18,000
gal : 2yl
SEA2l Ayl 8,00,000 8.,00,000 10,00,000
us, 9aydl 2,00,000 2,00,000 2,00,000 |
10,00,000 10,00,000 12,00,000
AAHA 2 AR
Wi 54 30,000 40,000 50,000
A5 - 5UH g 1,80,000 1,60,000 84,000
2,10,000 2.00,000 1.34,000
12,10,000 12,00,000 13,34,000
Lo 1ol E;[ ;
.Elcim-_[ ' 1,50,000 1,50,000 4.50.000
g el :
duelrl 3,20,000 2,00,000 1,40,000
é,c[l@ﬂ 1,94,000 2,76,000 20,000
53431 wrMd 30,000 20,000 54.000
221G HUld 24 6,000 4,000 6,000
2= ALY, Bl 20,000 12,000 14,000
7,20,000 6,62,000 6,84.,000
19,30,000 18,62,000 20,18,000
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On the basis of the following data, prepare trend percentage tables of 2 company :
Balance Sheets

| 2010-11 2011-12 2012-13
1 X 2 2
Current Assets :
Stock 2,30,000 3,20,000 2,60,000
Debtors 4,16,000 3,40,000 3,00,000
Bills RECEivﬂbIE 64,000 80‘0{}0 90.000
Cash 44,000 2,36,000 20100!0 |
Investments 1,60,000 50,000 ] {}.!00(}
Other current assets 1,40,000 30.000 10"0100 |
Prepaid expenses 34,000 40.000 3 Ufﬂﬁﬂ
10,88,000 10,96,000 720,000 |
Fixed Assets '
Land 80,000 80. -~ 2R |
Buildings 56,000 46,333 | l% ggg
Macll-nine:ry 6,44,000 5,88,0000 o 10 02!000
Furniture 62,000 sm ’3 2:0{}0
1 g-;;*g““ 7,66,000 . |~ 12,98,000
20,000 18,6 :
Liabilities — Share Capital m 515,000
Equity Share Capital §,00,000 £ 8,00.000 10,00.000
Pref. Share Capital 2,00,000 ‘ 2,00,000 2.00.000
10,00,000__ 1" 10,00,000 12,00,000
Reserve and Surplus |
Building Fund 30,000 40,000 50,000
Profit & Loss A/c. | 1,860,000 1,60,000 84,000
| ll 2,10,000 2,00,000 1,34,000
12.10,000 12,00,000 13,34,000
Long-term Capital : k.
Debentures 1.50,000 1,50,000 4.50.000
Current Liabilities
Creditors. 3.20.000 2.,00,000 1,40,000
Bills payable ™ / 1,94.000 2.76,000 20,000
Provasion {or tax 30,000 20,000 54,000
Pré-received income 6,000 4,000 6,000
Other current debts 20,000 12,000 14,000
| 7,20,000 6,62,000 6,84,000
{ Y ol 19,30,000 18,62,000 20,18,000
AHYAVOR

I qEEs el gl 2led g 7 -ueudly Rausl wd Adgsle AsGe=ll 42l
dslad ealdl.

What is Management Accountancy ? Define the differences between Financial
Accounting and Management Accountancy.
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2. 3 '
W (A dl 31-3-2013-y % W Ay A yopeq 6 -
FAUNEL | 4 Biasal ' z :
Shad) |
o Ay 4 5,00,000 | 513 Masdl 7.40,000
" )| :'-"l"ll"{rl: 1,50,000 | £1e1R] 1,20,000
:iﬁi‘{lj'l g 50,000 | dg(l¢d) 30,000
; z %o [::.@m[ 2,00,000 | 2214 1,00,000
: c{:u:l 75,000 | A58 24 s Ry 50,000
| & 25.000
o5 Bl 4152 40.000
10,40,000 10,40,000

At Al sufgdl -
(1) RUss dauel T 1,50,000 (G el 14 s dyler{ el 4 1 ©.)

(2) s "“lﬂﬂ X 50,000 (4 W1l 24 Gz WLl WL 1049 . )

(3) AL 5L (2% 214 50% 52921 udai-l) T 180600

Gyl ﬂlreﬂr[l uRel Goy wig ArdAy duz 531 flAdboretazl wiul ;o (v 360 [Bax
ARAYIHL Al.)

(1) Alvvil A5l et

(2)  uael etz

(3)  edlelRll 2Lt -

(4) delelRi-l 2Ll

(5) edi-Sadl v

(6) =istddl 34l uz aaddbe?

The Balance Sheet of “Raja Ltd.” as on 31-3-2013 1s as under :

Liabilities * | X P .
Equity share capital 5.00.000 | Fixed Assets 7.40.000
General Reserve 1,50,000 | Debtors 1.20,000
Profit & Loss A/c. 50,000 | Bills Receivable 30,000
1 5% Debentures 2,00,000 | Stocks 1,00,000
Creditors 75.000 | Cash & Bank balance 50,000

| Bills payable 25,000
|'Bank overdralt 40,000
10,40,000 10,40,000
Additional Information :
000 (Credit sales and Cash sales are 4 : 1).

{) Cash sales ¥ 1,50, . |
() 0,000 (Total purchase and Credit purchase ratio are 10 : 9)

(2) Cash purchase ¥ 3
(3) Net profit (Before interest and tax at 50%) ¥ 1,80,000
3 P.T.O.
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From the above information, prepare Vertical Balance Sheet and compute the following
ratios. (Necessary calculations are to be made on the basis of 360 days in year.)

Net profit ratio
Liquid ratio
Debtor’s ratio
Creditors ratio

(1)
(2)
(3)
(4)
(3)
(6)

2. (A)

Debts-Equity ratio
Rate of return on capital employed
HY4AVOR

A 25 GUAL 5§ A eld, A3RAAAL 2215 9921 22l5 53l T 5,000

B I 2215 T 20,000 el dl 12D Al

The stock turmmover is 5 times, the opening stock 1s ¥ 5,000 less
stock and average stock is ¥ 20,000. Find out the purchase.

(B)

sl (@Al A 2l 80% 9. 5141 A5LHAL 2

Z 15.00,000 9. dl A41A 4 a4,

The operating ratio of Sunpharma Ltd. 1s 80%,
sales is ¥ 15,00,000. Find out the operating c«

feaell apetinziAl Guallidr 24l
Discuss the importance of Accounting

(C)

eompany.

]
110 1S 33'3- % and the

¢'§

th

14
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oy UsEL 12t Masdl 31-3-12 | 31-3-13
3 3
s, a2y dl 25 T 100 | & Yer2y 60,000 20,000 |
Al Yzl MU | 15.00.000 | vy w14 =L | 10,50,000 | 13,50,000
HHL™H 2i-LHA 0.000 | 3,00,000 | %yl 24
Y5l 9.00.000 | 8,10,000
151454 4,44,000 | 4,14,000 | wail 2.40,000 | 2,20,000
3.00,000 | 4,20,000 | 2zl 2,40,000 | 2,25,000
2.40,000 | 1,80,000 | 2215 1,20,000 | 2,40,000
2.00,000 | 2,80,000 | 2154 ~| 1,20,000
14 v 55.000 | 20,000 | zalelzl 2,00,000 | 2,80,000
sodzt oS o/ | 1,80,000 | 2,40,000 | delléll 70,000 | 50,000
ols ildR $152 1,65,000 " walbis wd 54,000 | 36,000
[soiyd 4214 o/ - 3,000
| 29,34,000 | 33,54,000 | 29,34,000 | 33,54,000
4



ARl fkd) .

1 = : 4 " N L
(1) 3;'{1%&; 60,000l 3y (Bt Astel duer Gud 4z 20% 51 w9 d 34
el

2 : & & :
(@) Al 14201241 3y waen il g2 A 93 Ws 2 sl ddls
PUMUAL ]| gq).

M ERBI $% asianll s Bl seais Akl L. &

q:{[ BRI Ysdet 52931 el (s w4sH T 1,65,000 24 1,62,000 ¢
W eliun 71,50,000 Al 2ud calda Gadni 4ol 20% vileell duidai
W eBrur % quig QARL @lme-dAl YR T 1,05,000 %HIs-Hs1
12 | 31-3-13
2

< 90,000.
60.000 20,000

(3)
(4)
(5)
(6)

.
Pl Miledl uzell Reauell dlvet - 3 sppord 2ss uawe u
The following are Balance Sheets of “Radha Ltd.” :

Liabilities 31-3-12 | 31-3-13
3 <

Equity Share Capital

each of ¥ 100 fully |
paid-up 9,00,000 | 15.00.000 10,50,000 | 13,50,000
General Reserve 4,50,000 | 3.0 9.00,000 | 8,110,000
Profit & Loss A/c. 4,44.000 oodwill 2.40,000 | 2,20,000
9% Debentures Investments 2,40,000 | 2,25,000
Creditors Stocks 1,20,000 | 2.40.000
Bills payable Cash - 1,20,000
Qutstanding Debtors 2,00,000 | 2.80,000
expenses
Provision fi Bills 70,000 50,000
taxation Receivable
Bank eve 1,65,000 — Preliminary 54,000 36,000
expenses
Discount of - 3,000
debentures
29.34.000 | 33,54.000 29,34,000 | 33.54,000

itional information :
[nvestment of T 60,000 were sold at a profit of 20% on selling price.

(2) The company has issued bonus shares at 3 : 1 from General Reserve as on
1-4-2012.

(3) During the year new debentures are 1ssued at 5% discount.

(4) During the year Tax and Dividend were paid ¥ 1,65,000 and ¥ 1,62,000
respectively.
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3.

(B)

DA-101]

(5) During the year machines worth Z 1,50.000 have been sold out at loss of 20%.
(6) During the year depreciation written off on plant & machinery Z 1.05,000 and

Land & Building I 90,000.

From the above information, prepare Cash Flow Statement as per Accounting

Standard — 3.
2YAVOR
(A) X Al wsi 24 A yoe o -
wst AUl 1-4-2012 | 31-3-2013
< 3
ﬁ-lﬂ!::ﬁ. :
B4 {51 75,000 | 1.10.000
Al 80,000 55,000
Ay e sl 75.000 82.000
2,30,000 | 2.47.000
E.Cli :
AuLElzl 65,000 44.000
ol5 Al 40,000 50,000
y il 1.25.000 1,53.000
2,30,000 | 2,47.000 |

af et T 10,0001 wsdzlyad »ls 4o %Al uz ool wddl aRl
3,000 ddl d T 500040 dAAMl 208 ede, Al 1420120 21 4ol 19|
gl ool eusl T 25,000 edl A dl. 31-3-201341 A% B o)
¥ 40,0001 el
Guzl Hledl udl, @zl Al il i 4ot vid dar 3.

The Balance Sheet of ‘X" Lids 1s a8 under :
Balance Sheets

1-4-2012 | 31-3-2013
» p X 4
Assets :
[Land and Butlding 75,000 | 1,10,000
Machinery 80,000 55,000
Current Assets 75,000 82,000
2.30,000 | 2,47,000
Liabilities :
Creditors 65,000 44.000
Bank Loan 40,000 50,000
Capital 1,25,000 1,53,000
2,30,000 | 2,47,000

A machine worth ¥ 10,000 was sold out @ 3 5,000 which had an accumulated
depreciation of ¥ 3,000. , ;
The depreciation provision of ¥ 25,000 and ¥ 40,000 as on 1-4-2012 and 31-3-

2013 respectively. _
Prepare the Accounts of Depreciation Provision and Machinery.

2158 wadle Watsdl Guailidl 24 suleril weudl.
Describe the importance and limitations of Cash Flow Statement.
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4. e LAl QA Rodld 2R Al 30-6-2013410 #1% Yrl adl A% A 2lsy

WEIWUA dUlR 42U 14
iy wEl w3+l 22ls uaia Wl
3 . X
eIt 6,00,000 50,000 1,00,000
U 7,00,000 75,000 1,25,000 &
| 8,00,000 1,25,000 1,50,000 ' \
A 9,00,000 1,50,000 1,75,000
ASID) 10,00,000 1,37,500 2.00,000 S
el Hlsdl
(1) dl. 1-4-2013L 2% 2155 24 o5 Mas T 2.00,000. 0

(2) AR WR S A5l £ 337 % 69,

(3)
qeldHl €3 5% 9.

| :
(4)  AHY 2uvl : Gur wWrlEl 5 Ml URla vl :

(3)
(6)

sty (asdil Bewls qazl 90,0

GBI dA®Ll 60% el duel
Held 2 oslAl el Al 1l

Y9l '

s’iely HlAUS wWwuR
i el wauRAi

From the following

(7)

(8)

40% WRIEl i dael 2isidl a9, sy wFlEl

Month es | Opening Stock | Overheads
< 3

6,00,000 50,000 1,00,000

7,00,000 75,000 1,25,000

8,00,000 1,25,000 1,50,000

9,00,000 1,50,000 1,75,000

10,00,000 1,37,500 2,00,000

itional details :
(1) Cash & Bank balance on 1-4-2013 ¥ 2,00,000.

(2) Rate of Gross Profit on sale 33%'%.

(3) 40% _
purchases and cash sales is 5%.

(4) Time lag: Credit purchases /2 month, over
7

of purchases and sales are in cash. The rate of ca

heads '/4 month.

A4 ol M3 2SS

190 Uz 1A wWalMl 2d4al 9.
Aol 44wl ol

5 A% wilud 24 AUl gsadlqd

0, gl el 10l Al gsua ©9.)
0%l IRl ALl €9,

ars of “Ramdev Ltd.” prepare cash budget for three

sh discount for the cash

P.T.O.



(5) Three monthly depreciation on Fixed Assets is ¥ 90,000, it is included in the

overheads.
(6) 60% of the credit sales are collected in the month after sale, 30% in the second
month and remaining in the third month.

(7)  Quarterly interest on 10% debentures of ¥ 6,00,000 is payable in April and July.

(8) Estimated monthly salary ¥ 20,000 (which is to be paid on 10" day of the next
month). Salary will increase at the rate of 10% from the month of March.

AYAVOR
4. (A) e [l dl 31-3-20131 YRU Adi At dauel Wl @oidi »igle AL $1
{12 Yooy 9. 8
qel silay wouz % 15,000 .
dutel stulay-Al Rur wal 12,500
Med WY (Y3 T 20,000

gradlol vloedd HeAdigy -
(i) [Ruz wour »id alen o2y T 57,500
(i) el Y2 1% |
1

TASHIA SUSIHLE A8l YR 5%, UG W 6% AV A vlogeud wu-y

4|91,
Az A wsudd el duedl Wels 2dy MR AdeHl [l w3

ElBUA ddIR 53l €9

T2,00,000 Al 24 %2 glzl A4 Al Alsd 54 d2ie T 15,00,000
T2,50,000 AL 2y %A ¢Rbuded el Alsd 54 duel T 18,00,000
Z3,00,000 Al 24 2@l 446 Qe uled g4 dael T 20,00,000

The approximate figures.of sales expenses of “Anand Ltd.” as on 31-3-2013 year
ending are as follows :

Salary of sales office < 15,000

Fixed cost of8alesoffice T 12,500

Fixed advertisement expenses < 20,000

Remuneération of travelling agents :

(1) [ Fixed salary and transport allowance ¥ 57,500.

(1) 1% of sales.

Outward carting is 5% of sales and general commission of other agents @ 6.25%

onsales.
Prepare a sales overhead cost budget of each level of estimated sales on the basis

of the following data :
Total sale= of ¥ 15,00,000 including the sales of ¥ 2,00,000 by other agents.

Total sales nf ¥ 18,00,000 including the sales of ¥ 2,50,000 by other agents.
Total sales of ¥ 20,00,000 including the sales of ¥ 3,00,000 by other agents.

(B) &5l4 vl @ “gry 2R d vlelu”.

Write short note on “Zero Base Budget”.
8
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&
Select the corregt 2 ¥390 ateadlag ealdl : -

© pm _ (b)  uMEL Wiz usgla
. Al vigy (d) HMid wsdz ugld
echnique is not used in Mana ¢ /
X _ gement Accountancy 7
(a) Uperatmg Cost Method (b) Standard Cost Method ‘

(c) Budget
ary Control Method  (d .
(2) 2w g1z AALE 2 (d) Marginal Cost Method

(@) Ay [sayoe]] ye [t 21203 .
(b) sy Reayey Al 245 wglq 9.
(€)  Wsd2 (el waidl iy LI 49, (

(d)  lsuel Reaell wgly ]
UL 2414 9 A4l 1oaE

Management by exception is ;

(@) an instrument of Managenal Accounting Syste

(b) amethod of Financial Accounting

(¢) apart of Cost Accounting

(d) None of the above accounting syste
(3) UL UG A58l 53A WsdzA WIS

Y ld SEAA.

(a) WHLBL LsdR

(c) wldells vz

Pre-decided cost 1s co

(b) Marginal Cost

\ S
(a) Standard Cos ”‘\
(d) Contract Cost

(c) Historical | ‘ |
(4)  uatfedirt el Al 1AL s il 2 Al A4 7

(a) Al 2 (b) Al YA

(c) M4 (d)y #eMdl spEuds _

he following ratios are not included n liquidity ratio ?

(b) Current Ratio
(d) Quick Ratio
s % 45.000 it dzd % 44l asu widl
Il 24l 71.20,000 9. dl »ifs 5412l ey

d Yoy
UL Yidx

real cost 1s 1t called

12

quity Ratio

Ratio )
syl 2lss T 10,000, “5
(32l Z 25,000 &9 2t W4l

4L |
" h of Z 10,000, bank balance of ¥ 45,000, instantly encashable

:e::rmasngf!;a;; E{1}5‘0{] and liquid debts of Z 1,20,000. Find out the acid test ratio :
(a) 0.67:1 (b) 0.45:1
(c) 0.63:1 (dy 035:1
) P.T.O.
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(6) s sudl4l Awa dRitR 80%, df 48l T 20,00,000 A duw wyd
¥2,00,000 6. A et vl ¥1,00,000 ¢l dl dd Ml usde wilul.

A company’s operating ratio is 80% and its sales is ¥ 20,00,000. Sales return is
< 2,00,000. If the operating expenses is < 1,00,000, find out the cost of sales.

(a) < 15,40,000 (b) < 13,40,000
(c) <12,50,000 (d) < 14,60,000

(7) s Sudldl us. R4l T 60,000 ¢lu, Relaz T 40,000 L eld 24 Sl
234l T 4,00,000 Al eld dl 20uloy deivz Al Hawot wal. )

A company has a preference share capital of ¥ 60,000, debentures of ¥ 40,000

and equity share capital 1s ¥ 4,00,000. The gearing ratio would be
(a) 10% (b) 25%
(¢) 50% (d) 15%

(8) «dl. 31-3-12-L A% urAML ¥l w2 gl s T 660,000 © @i
dl. 31-3-13 -l 2A% wAaHl 4ol wr qurel s R, 6,00,000 ©. ad
el ¥2,00,000 Al 3.(5.4 215 4ot %1 uz o1 9id 23RL T 1,20,000 €.
d 40,000 Al (Hd 4l szl 209 ed. dg 99 Bdl Bl A5LsLt
wid Gauyl vl ? |
Provision for depreciation on machinery 1s ¥ 5,60.000,and T 6,00,000 in the
Balance Sheet as on 31-3-2012 and 31-3-2013 respectively. A machine worth
¥ 2.00,000 was sold out for ¥ 40,000 dusing the year had an accumulated
depreciation of ¥ 1,20,000. How much dépreeiation would have debited to its
Profit & Loss Account during the €ument year ?

(a) < 80,000 _ (b) %% 1,60,000
() ¥1,20,000 | () T 40,000

©) s sudli 2iseil a3-lsusl T1,00,000 it vuviz-l susl X 1,20,000 edl.
af el wopgRlBel 17,000 Al Bid 4l edi @ Al zlsel
736,000 Hi WML sal. dbsd e S8 4Adl sedl 151 uuL el ?
A company-@geount shows ¥ 1,00,000 as opening balance and < 1,20,090 as
closing balance of investments. Some of the investments were sold at a price of
Z 17,000 dufing.the year and new investments worth ¥ 36,000 was purchased.
Find‘outithe profit after the sales of investment during the year.

(4) F 800 (b) ¥ 1,000

(10).cll- 31-392012 -l 2% saul Aol o115l T 18,000 2 dl. 31-3-2013+1L
L e sedaidl sl eudl T 12,000 edl @l efrut Ysda sreRl

210.000 st dl wd @ sl s2drull s sedll sl usel ?

Balance of provision for taxation is X 18,000 and .? 12,000 1s as on 31-3-2Q12
and 31-3-2013 respectively. The total tax paid during the year is ¥ 10,000. Find
out the amount to be provided for tax from profit during the year.

(a) ¥ 2,000 (b) ¥ 4,000
(c) %6,000 (d) % 8,000
10
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(11) 25 Sl dl 31-3-201240 3o wisi wedupi SsAL vl o4

(12)

DA-101

T 5,600 -l dl. 31-3-2013+4) e Wsl Wdumi 4 '
,60( \ “Usl T 6,800 olciaa]
Al 8. 2L AR a2 ydey ogqeR) 8 YA

(i) :[cugzrjﬁqm ¥ 7,500 4R 23 2 7 1.500 52931 23 ool sy

(i) A e T 6,000 Asl 6,200 ) Gy UM AL Sl i)

T 9,000 4l 9 250 ) [ ' ' |
: D, Ml AU WAL gl B 61
A5l ASI45UIA v THL SUHL 2] ¢ql. - -

(i) 4 e 710,000 Qe Y5 W] e
ed.
RS Wt Ay A5 565 293 ggifeys) 9 e

(a) 13,950 (b) T 14,450
(c) ¥19,350 (d) 17,950
Balance shown in the Profit Loss AJc. of the Balance Sheet is Z 5,600 and

X 6,800 as on 31-3-2012 and 31-3-2013 respectively R
during the financial year are pectively. The transactions made

(1)  ¥7,500 for depreciation and ¥ 1,500 for tax was provided during the year.

(11) Investment worth ¥ 6,000 were sold out at ? 6,200,and machinery worth

T 9,000 was sold out at ¥ 9,250. Profit on these two '
. ’ . | ll'an '[
credited to Profit & Loss Alc. sactions was

(111) Dividend of ¥ 10,000 was paid during the year.
Which amount from the profit will be shown.as cash.reéeipt 2

(a) 13,950 (b) & 14,450

(c) %19,350 (d) ©%17,950

P Sudl (& 2oudl 9y e Gewed sige AdiR s Wiol 8. d R sl
w4 ¢ :

ooge ol dAlel 20,000 2hsMl, A3 2215 1,200 2154l 203 28 0R2

Waroldl 25Ul 5%.

Gaulet WEUL W WSRO % ddi due 484 sl 10% 2sHL AsR 1A

9. dl oMol Yl Sral Seel sl Geule s ALY 7
(a) 17,800 ui&dl (b) 21,800 visHl
(c) 22,000 sl (d) 19,800 254l

P Company Litd.wWants to prepare production budget for the forthcoming year.

Thefollowing is the information regarding it :
Sales of 20,000 units as per budget.

Opening stocks 1,200 units.

Ciosing stocks 5% of the budgeted stocks.,

10% of the finished product units are rejected due to faulty method of

production.

Find out the number of finished product units to cater to the market demand.
(a) 17,800 units (b) 21,800 units

() 22,000 units (d) 19,800 units

11

1 11
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(13) X R 2ol Hed M2 AP QURLEL 9 e oadl 1ol 9. % 41 Gedlet

(14)
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40,000 sl 458l uy © A £35 Wsuels 4 Bal suadl durle . ©.
sradl w3+l 2ls 12,000 Bl B oige Hed-d {0l 25% daisainil ©.

GuRll Hlscdl el A58l 520 3 wa-upuq auria axe deq vl ?

(a) 1,48,000 (b) 1,72,000

() 1,60,000 (d) 1,063,000

X Ltd. want to preparc good utilization budget for the next term, for wh‘the

targets production is of 40,000 units. 4 kg of raw material used per ulr.lifp'La
stocks of raw material is ¥ 12,000 kgs, it is to be reduced by 25% dugi

budgeted period.
Find out the inventory utilization budget.

(a) 1,48,000 (b)  1,72.000

(c) 1,60,000 (d)  1.63,000

ws Su{lal A ool A 2 v o AL Gedled e of 1R sy .
2

dy el lsH 10,000

Beulet Ml 8,750 5,000

WEHELS 2 sAls
p WSHELS 4 sALS
td Y a0 siveRiAl vyl

AN SMERL selsels T 10 W 5HE,
[HAagan sl sa1sels T 7
BuL (qotdl yrdl A8l 52
WS sedl eol ?
¥ 5,25,000

(a) T 4.25.000
¥ 10,75.000

(c) 675000 &
A company has prepawl n budget foritem A & B :

|

Item A ltem B

Sales Units 10,000 22,000
Producti s 8,750 25.000
Skilled s &, 10 per hour 2 hrs. per unit 2 hrs per unit
‘Unskill rs T 7 per hour 3 hrs. per unit 4 hrs. per unit

he labour cost of skilled workers from the above information during

000 (b)  ¥5.25,000
c) %6,75,000 d)  %10,75.000
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